restart
Ecua := y"=32-exp(2x) + 40-sin(2 x)
d3

Ecua = — y(x) =32¢"" + 40 sin(2 x)

SolaGral = dsolve(Ecua)

2
C, X

SolaGral = y(x) = >

restart
Ecua :=y"—6-y"=2-exp(2 x)

Ecua = % y(x) —6 — y(x)=2¢
EcuaHom = lhs(Ecua) =0
EcuaHom = d—3 y(x) —6 —5 y(x)=0
dx
Q = rhs(Ecua)

EcuaCarac == m’ — 6-m> =0
EcuaCarac == m’ — 6 m> =0

Raiz := solve(EcuaCarac)
Raiz :=6,0,0

w[l]:=exp(Raiz[1]x);yy[2] := exp(Raiz[2]-x); yy[3] := x-exp(Raiz[3]-x);

6 x

yyy=er
wy =1
Yy =X
SolHom :=y(x)=_CIl-yy[1]+ _C2-yy[2]+ _C3-yy[3]
SolHom := y(x) =_CI ™+ C2+ C3x
SolGral == y(x) =AA-yy[1]+ BB-yy[2]+ DD-yy[3]
SolGral == y(x) =AA ¢+ BB+ DDx

with(linalg) :
WW = wronskian ([yy[1], yv[2], yv[3]], x)
' 1 x
wwi=| 6¢&* 0 1
36" 0 0

BB = array([0, 0, O])
BB=]0 0 2" |

ParaVar := linsolve( WW, BB)

2x
+4e " +5cos(2x) +c,x+ ¢

0y
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2 x 2 x 2x 2 x

ParaVar i € e x e e
araVar := PR 3 13 3
AAprima = ParaVar|1]; BBprima := ParaVar|2 |, DDprima := ParaVar[3 ]
2x
AAprima =
P 18 ¢
erx er
BBprima = T
2x
' €
DDprima = — 3
AA = int(AAprima, x) + _CI
2 x
A== ——— + CI
72¢"
BB = int(BBprima,x) + _C2
e’ (3x—2)
BB:=———7-—"">+_(C2
18 -
DD := int(DDprima,x) + C3
2x
DD =—-—+ (3
6 J—
SolFinal := simplify(SolGral)
2x
SolFinal = y(x) = — 68 + Cle+ 2+ C3x

restart
SolGral = y(x) = CI'X¥+ C2x+ C3+ 4-exp(2x) + 5-cos(2x)
SolGral == y(x)=_CIx + C2x+ C3+4¢ "+ 5cos(2x)
Condlni = y(0) =3, D(y) (0) =—2, D(D(y)) (0) =6
Condlni := y(0) =3, D(y) (0) = =2,D" (y)(0) =6

EcuaUno = simplify(subs(x =0, rhs(SolGral) =3))

EcuaUno == C3+9=3
EcuaDos = simplify(subs(x =0, rhs(diff (SolGral, x) ) =—2))

EcuaDos := C2+ 8=—2
EcuaTres := simplify(subs(x =0, rhs(diff (SolGral, x$2)) =6))

EcuaTres . =2 Cl—4=6
Para[3] := isolate( EcuaUno, C3)

Paray == _C3=—6

Para[2] := isolate( EcuaDos, C2)
Para, == _C2=—10

Para[1] := isolate( EcuaTres, CI)
Para, == _CI =35
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> SolPart := subs(_CI =rhs(Para[l]), _C2=rhs(Para[2]), _C3 =rhs(Para[3]), SolGral)
SolPart == y(x) =5x"—10x— 6 + 4 & + 5 cos(2 x) 27
;> with(linalg) :
> ParaCte := solve( [ EcuaUno, EcuaDos, EcuaTres])

ParaCte == {_CI =5, C2=—10, _C3=—06} (28)
>
> SolPartDos := subs(ParaCte, SolGral)
SolPartDos = y(x) =5x —10x — 6 + 4 " " + 5 cos(2 x) (29)

>




